Three-Dimensional Objects

Name Date

You can describe a three-dimensional (3-D) object by its faces, edges, and vertices. Identify the
name of the object and the number of edges, faces, and vertices.

Object Name Faces Edges | Vertices
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Vocqbulury Check uUnscramble the letter for each puzzle to determine the term.
USFAREC ERAA SO\(Q% AS®ihe sum of the areas of the faces of an object.
MLOVEU \| Qlwree The number of units that can fit inside a 3-D object,

ECNIYDRLL .Q\',l_\@g A 3-D object with two parallel circular bases.
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4. ETN N A flat diagram that you can fold to make a 3-D object.
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EUCAANRGTR MRISP Beet eonguder P *A3-D object with two parallel rectangular bases.
IRAGNRUALT SIMPR ¢, .QII?S-D object with two parallel triangular bases.

Infer why it is important to learn how to calculate the surface area and volume of a 3-D object.
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Surface Area of a Cube
Round all answers to the 100th

Name

Dote

Thi ;
s is one of the 11 different patterns for the net of a cube. Draw another net that could make a cube.

[
A net can be folded to make a 3-b
shape. The outside of the shape
is called the shell. The internal
lines are called the skeleton.
1. How many faces make up a cube? (“g

2. What type of polygon is each of the faces? 55} e~

L

3. What is the formula for finding the area of one face of a cube? f/lcr'-: S

Find the surface area of the following cubes.
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Volume of a Cube
Round all answers to the 1000th
Name

Date

The amount of space occupied by an object is its volume.
Measures of volume are expressed in cubic units.
Xist between the cubic centimeter and milliliter. 1 em?® = 1 mL {eapacity for liquid)

The formula for volume of a cube: V = §3

A special relationship e

Find the volume of each cube.

7 unity

— e e

2.5 unity

1.2 units A
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Problems [\/\'\q\\,u\ g

(_ﬁA cube has a volume of 64 cubic units. What is its 9. A cube has side length 10 units. What is the

surface area? volume? 3
= \Q00 w
Al unls
<_§)A cubic container has a volume of 512 cubic 10. Name two objects you use frequently that are
centimeters. How much water can it hold? cube shaped.

A1 wal-




Name

This is the net for a rectangular prism.

A net can be folded to make a 3D
shape. The outside of the shape
is called the shell. The internal
lines are called the skeleton.

1. How many faces make up a rectangular prism?
2. What type of polygon is each pair of faces? _?A C )S‘C-‘..gg i

\J
3. What is the formula for finding the area of one face of a prism? ﬁg: )f,w

4. Why would we multiply the answer to question 3 by 2? 3 seds 6&; Con E\;pw H.(.)ff‘.nhw

Surface Area of o Rectangular Prism
Round all answers to the 100th

wn | front | nght l

Date bﬁ

Draw the prism here. Label the faces.
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Find the Surface Area of each Rectangular Prism. | : i :
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Name

Vocabulary Check Choose the letter representing the term that matches the statement.

Volume of a Rectangular Prism
Round all aniwer; to the 100th

Date

The amount of space occupied by an object is its volume.
Measures of volume are expressed in cubic units.

A spedial relationship exist between the cubic centimeter and milliiter. 1 cm’

The formula for volume of a rectangular prism V = lwh

b The amount of space an object occupies.
_L A particular view of an object
O\ The distance between the 2 bases of a prism
2 __C_.__ The face that is perpendicular to the height of the prism

Find the Volume of each Rectangular Prism.

4 units
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Surface Arvea of Triangular Prisms

Round all answers to the 100th
Name

Dette

Atriangular prism has 9 distinct nets,

TR ER o

Draw one of the prisms here. Circle the net you chose.
Label the base.

A net can be folded to make a 3-D
shape. The outside of the shape
is called the shell. The internal
lines are called the skeleton,

1. What type of polygons make up the triangular prism? TK\( an %L-% d Re hen &bi

2. Name the polygon that is the base? What is the formula to find its area? hy Qﬁg LeS Az ‘TE‘_ bl

Calculate the Surface Area of the Triangular Prisms
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Velume of Triangular Prisms

Round all answers to the 100th
Name Date )

The amount of apce occupied by an object is its volume.
Measures of volume are expressed in cubic units.

The formula for volume of a triangular prism V = Bh where B is area of the base [triangle is base)

Calculate the Volume of the Triangular Prisms
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Surface Area of a Cylinder
Round all answers to the 100th

Name

Date

Label the faces.

This is the net for a cylinder. O Draw the cylinder here.

f H

A net can be folded to make a 3-D

i
.

shape. The outside of the shape

1
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is called the shell. The internal O
lines are called the skeleton.
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To find the surface area of a cylinder, use the formula: SA = 2rrh + 2nr?

Use the Order of Operations: Exponents first; multiplication; and then addition.
Recall diameter is distance across a circle, radius is distance from center to inside edge of the circle.

Find the Surface Area of the Cylinders. Use 3.14 for n.

10 units

3 units 15 units
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Name

Volume of a Cylinder
Round all answers to the 100th

Date

The amount of space occupied by an object s its volume.

Measures of volume are expressed in cubic units.
The formula for volume of a Cylinder V = TTr?h

Vocabulary Check Choose the letter representing the term that matches the statement.

il

The shape for the base of a cylinder.
V =lwh
V=g’

i'g A:Ez-iLi

Find the Volume of the Cylinders. Use 3.14 for m.

3 units 15 units
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Estimating e SO H-ONS

. e S Date: Class Period:
Squm ¢ Roots

APerfect Squareis _ Gy NAMDe Lhast F,ﬁ'-l-}‘_ P(C)d]ﬂ\ul' é Z&Jfkc, Sarre ol numbg
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Name:
Date Class Period !
The steps to estimate a square root of a non-perfect square are: ‘
) Sed WP an P\N%JMJ ’JH\B
TN T M&c# Sﬁum%\c\- o gr-ccs!nf B‘(H
3) & M \n 1@(&*0—* &]Aw"h—‘r s bt Hhen ‘C?K D,
3 Simoh R 3 -l - ﬁqty\c-rcs
5) &, v " =S - 4‘ <%
St VT e s oy hy,
Example:
Estimate V71
o4 <71 < %1 Check:
71is closer to qu . o CA\LM\QW‘/J’
= 47
A < VT <] A= 347
ReIF L
Vii= R .
L |
Practice: . S :
N3 <45< 49 check: Al <17<28  check: 4
45 is closertoﬂi Lp 1 17 iscloserto _\le
6 Z1as<3 4253 (5
Vis= 3 ViT=_4
3)12) <123 <194 check: 23) b <190 < 1A check: 13 1
123 is closer to {13 . l 190 is closer to 1412
m—! V173 < Wh J < V190 <Ak
N <JTs LIt I3 &J1as ¢ 14
JI23 =\ Vvigo =14 ‘7




Name:

Date: Class Period:
Find each of the following square roots. Round to the nearest tenth. Make sure to check your
estimates.
1) LgéL._< 66 <CL\ Check: % \ 2)‘.29 <70 <E’_L— Check: %4
66 is closer to WA 70 is closer to _f.[ﬂ:_ ’
EZ\_< V66 <_J_-§_]_ _8-]:_2!__< J70 <__\[_§_‘
RCVGL ¢ 9 % < V3o <4
V66 &_ V70 &_%
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Name:

Date:

Class Period:

Find each of the following square roots. Round to the nearest tenth. Make sure to check your

estimates.

13) 3l <37 <ﬁ

37 is closer to 3 b
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Name Date Period

"5 Using the Pythagorean Theorem in Word Problems - WS #2

Solve by drawing a picture, identifying a, b, and c, and applying the Pythagorean Theorem.
Don’t forget to give your answer with units!

1. Two sides of a tight trangle are 8 and 12 in.

a. Find the missing side if these are lhf Icngths of the legs. |
&bt ¥ Jex <« C

k (441 se -
e o0 7

b. Find the missing side if these are the leng_ths of aleg and hypotenuse.

= g, A
p\q_*-b e Gk‘r

7 araT+ 2
% b R euhe 184
A = R0
2. The foot of a ladderis placed 6 feet tmm a wall. IE the Eop of the ladder rests 8 fe wall, how
* long is the ladder? N
= z-_\ -
wa\l 7 Al sy
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ground does the ladder touch the wall? ;g-\?-.* b®. Cz s r C
| £rgta gzt T ln.bol;cora(&(_pféu‘w;%
o (4¢ 29z 199
r\"' - 135 LNQH
- 4. John leaves school to go"‘home I;I.e walks 6 blfckn Notth and then 8 blocks west. How fax | m
L scliool? Thise ks c{:b R, o= C ol s lQ bloc/ks
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5. Scott wants to swim across a river that 1s 400 meters wide. He begins swimming perpendicular to the shore
he started from but ends up 100 meters down rver from Wherc he started because of the curtent. How far

did he actually swj i from his starting point? _;.bt 2 C— 2 5 30000 = X
= X
0%+ 400" F X 4|2.3<=

_ﬁ-
(o000 41609051 (Fiw swern aboutd 1230

6. A ramp is placed from a ditch to a main road 2 fr. above the ditch. If the Iengjth of the ramp 1s 12 fr., how

100

far away is the bottom of the ramp from the road? q"‘*b (1.;‘::1- 140 ‘S:
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A 13 fr. ladderis placed 5 fect away from a wall. The distance from the ground straight up to the top of the

wall is 13 ft. Will the ladder reach the top of the wall?
o+ ooss. ble . /‘Tr-c. h Pa"’tnw
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8. What is the length of the diagonal of a 10 ¢t by 15 em rectangle?

t;\"4l1: t
e, o2 V3zs =c¢

S 8 gt & 1_
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9. The diagonal of a rectangle 1s 25 0. The width 115 in. What is the length?
c;'L+ \,"%-. C 51 Pl Lt
G-t;.:_?:;“—?a 1,2 oz J""qm
avos 2t az 49

10. A soccer field 1P rectangle 90 meters wide and 120 meters long. The coach asks players to run from ong

comer to the comgr diagonally aCms&"\ihg{sc[hj;."dimanCC? j 250 =C
3 * 150 =€

% (o0 + 4400 - &
=t =~ 22500 =C
11. A baseball diamond s a square with sides of 90 feet. What 1s the shortest distance, to the nearest tenth of a
foot, between first base and third base? ;f'-;-b-?‘: ot a \IleOD = o
&0 N Qa0 +90°= ¢ 2
{100 + %102 "-1_0

L) a0 (pto® = e

Tw longbh oF
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13. In a computer catalog, a computer monitor 1s listed as being 19 inches. Ths distance is the diagonal
distance across the screen. If the screen measpres 10 inches in height, what is the actual width of the screen

to the nearest inch? A b1_: ¢t 2 A<Vl | il
\ s o 3 Az (115
- - ‘_ =) .
1A ' Qin e illg)) Pl
at = Tl
14. Donna's TV screen is 20 inches long. If the diagonal measures 25 inches, hgg long is the width of Donna*s
TV? 0\1.*_ b—z_‘ C/I . el _2-_25
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15. A7 Tsosceles trangle has congruent sides of 20 cm. The base s 10 em. Find the hci%_hl of the triangle.
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Date: /30 Name:

Pythagorean Theorem Assignment

A) Calculate the measure of x in each.

Where necessary, round you answer correct to one decimal place.
Complete on a separate piece of paper.

z z b 44
1 2 o0t 6—{:&‘,-:)( 3.
c}znf‘: "n Ete=x
: % N = A /""
&l +199~ x 12 y = L
| 3
185w
Jze=x
| B
i 4 5 1+|’2»_ 24 6
X ¥'bb""6_-§.g
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o ) 6 QL"/"" 6
T = P
x2'+(p =0 X= j(_p)‘[, -
g Al X% 43X _acalod 2
wE=z :
xt 7 8 ! 9
2 /
— / 24 30
< e <:-—-_,____ = 8 o~
X ¥R =z "\‘“‘m»i,,}/ ,L/‘L -
z ) T4 =
xR 44 153, =100 saef=R 3
=324 £ —gq, e 8 1R 12 £

'L: 3'2’4} (Ol =X
X e J’S—{L\ oz @
B) A ladder is leaning against the side of a 10m house. If the base of the
ladder is 3m away from the house, how tall is the ladder?
Draw a diagram and show all work,
, - P
& qc-lﬂo\dl/ ]0 + 3 “:f X’,}; [Oé\D
. X 0 ik % =
VAT X
Sm W04 = X
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C) What is the length of the diagonal?

30 yards ‘/ Z5 @0(5 -

D) What is the length of bd?

b
g A
S th':i3 .
X 13 cm <. | W9
15*”‘ =35
e :: lﬂlq
a 5 d_LS c éf'l”—~

- . q
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